8.10 W =600 N, o =35, p, =025 pu =020 6 =060°

S; known W, «, u,, p, unknown P, § = wpEZt o ¢, ¥ AAY, AHZHH

A; vHEZE . = tan'(0.25) = 14.04° M:
¢, = tan"1(0.20) = 11.31°
smallest P = ~ = 90°

(@) M1z A eet7be] & o
B = at¢, = 35° + 14.04° = 49.04°
6 =180° -~ - B
180° = 90° - 49.04° = 40.96°
6 =90° - ¢ =3 =49.04°

P = Wsing = (600 N) sin49.04° = 453 N = P = 453 N ~249.0°

(b) "1 7k & o
B = a-¢, = 35° - 14.04° = 20.96°
9 = 180° - ~ - 3
= 180° - 90° - 20.96° = 69.04°
9 =90° - ' = 3 = 20.96°

P = WsinB = (600 N) sin20.96° = 215 N =
Ry (&7 e ed4) UFE, Sa7kd & wio did7te] & o opbzzh ek )

T:(Zxte] ov)) (OFE, e=7te & o p7F 7k & o p HY =)



